
Is it impossible to 
catch the horizontal 
sync signal on the 
digital generation 

display?

The horizontal sync 
pulse width of the 
LCD display is 3.6-

6.0 μsec according 
to my research.

I could go this way.



Circuit Diagram (Before and After Rewiring)

THE APPLE II CIRCUIT DESCRIPTION

The blue line represents the
wiring before rewiring and the
red represents after rewiring.



THE APPLE II CIRCUIT DESCRIPTION

Circuit Diagram Rev.4 (Before Rewiring)



THE APPLE II CIRCUIT DESCRIPTION

Circuit Diagram RFI (After Rewiring)
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The IC inside the
white box is the
target of rewiring.



Parts List

TTL IC  74LS02 x 1
Register 1 K Ohm x 1
IC socket 14pin x 6
Universal Circuit Board 8 x 4 holes x 6
Pin Header 7pin (Distance between pins: 2.54mm, 0.46mm square pins) x 12
Test Clip x 2
Wires



Installing the IC socket at A14
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B12(74LS11) Assembly #1
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B13(74LS02) Assembly #2
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B13(74LS02) Assembly #1
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Be careful not to 

short circuit.

If necessary, insert 

an insulator such 

as a plastic piece 

into the gap.
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C13(74LS51) Assembly #1
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pin 4 of F14(74LS259) 
to pin2 of A14(74LS02) 

pin 2(COLOR REF) of 
B1(74LS175) to pin3 

of A14(74LS02) 


